
1.43 V2.0 High frequency motching unil

Drawing Number TP307416 Figure Number 43 STS Ref. AS307416

Note The parts list for this assembly extends over two pages. The illustration (figure 40) will be repeated to
ensure ease of cross-referencing.

Item Description of Part

1 High frequency matching unit enclosure

2 High frequency matching unit lid

3 High frequency matching unit drive cover

4 High frequency matching unit drive lid

5 Busbar - N type to cap.

6 Busbar - cap to cap.

7 I Turn coil 81 25-128

Part Number Notes

F8306538

aC4664

aC4665

aC4666

DT307599

DT307600

aC4673

AC1763

1C4674

1 C4676

4P1 500

535000

PWB 8063-003 A310 dual

Coif clamp top 8125-129

Coil clamp bottom

Nut, full, M4

Connector N type socket

Gearbox 640:1 ratio

Motor

Potentiometer kit

Potentiometer 5KO

Capacitor, variable 36-1 528pF

Busbar, Cap to earth

Capacitor bracket (long)

Ofdham coupling, 4mm x 114

lsolation drive coupling

Earth stud assembly, M5

56001 I

560021

505s04

505090

512530

DT307601

DT306657

561 046

DT30691 9

AS304349

Continued overleaf...

I

I

10

11

12

13

14

15

16

17

18

19

20

21

22

Modular Parts Catalogue 1-102 lssue 1.1 - September 2001



,ffi-
1.43 V2.0 High frequency molching unil (conlinued)

ttem Description of Part Part Number

2g Support pillar - 52mm DT307573

24 Capacitor, variable 19-101pF 512523

25 Stud mod CT8054-104 item 4 1C1441

26 Stud, 4mm 561465

27 Bracket 4mm 561466

28 Plastic retainer 561467

29 Matching unit label set LD302231

30 Caphead screw, M4x25mm 471590

31 Socket head CSK screw, M4x8mm 4D1S40

32 Aerotight nut, M4 256401

33 Washer plain, M4 4J0S00

34 Pan head pozi-drive screw, M4x12mm 226277

35 Microswitch cabinet S5O01g

36 Pan head pozi-drive screw, M3x10mm 226208

37 Matching unit label set LD306737

38 Washer plain, M3 4J0400

39 Washer spring, M3 4V0400

40 Caphead screw, M3x6mm 4714g0

41 Connector D type screwtock 530025

42 Washer, 10-32UNF, brass 226591

43 Aerotight nut, M3 256417

44 Washer spring, M4 4V0500

45 Panhead screw 1O-32UNFx3/8" brass 226578

46 Connector DIN socket 3 way 530700

47 Connector D type 15 way plug 53OOO7

48 Connector DIN socket 5 way 180 530701

.*fi_

Modular Parts Catalogue

Notes

1-104 lssue 1.1 - September 2001



Shown Without Govers
For Clarity

ICP Chqmber Weighted Clomp Version 2

Note: ltems 29 & 37 Not Shown For Clarity.

Figure 43 V2.0 Hlgh frequency matching unit

y'-
tr

ar

/

r'

41 44.
a t?
4 l /
P30
I

l./
-20

41

s6- 4-q

48
27

lssue 1.1 r September 2001 1 -103 Modular Parts Catalogue


